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Solve each equation by using the Square Root Property.

1. x*2—18x+81 =49 2. x% 4 20x + 100 = 64
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3. 4x* —28x +49 =64 4. 25x* +20x +4 =75
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Fine the value of ¢ that makes each trinomial a perfect square. Then write the trinomial as a perfect square.
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Solve each equation by completing the square.

9.y2-4y—-5=0
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For exercises 15 — 22, complete parts a — ¢ for each quadratic equation.

a. Find the value of the discriminant.
b. Describe the number and type of roots.
c. Find the exact solutions by using the Quadratic Formula.
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21. 4x24+20x+29=0
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